

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4207	CHAVAILLAZ MAELYS PB BULLE	SOMMENTIER	FR	SUI	Cross Filles	2007	00:16:27.34	
2	4204	BLUM LAURIANE BSO	GIFFERS	FR	SUI	Cross Filles	2008	00:16:29.40	00:00:02.06
3	4206	BAUMANN JAEL BSO PLAFFEIEN	PLAFFEIEN	FR	SUI	Cross Filles	2008	00:17:00.81	00:00:33.47
4	4233	PHILIPP TABEA N/A	BULLE	FR	GER	Cross Filles	2007	00:17:28.17	00:01:00.83
5	4232	DAFFLON MARION PEDALE BULLOISE	CHARMEY (GRUYERE)	FR	SUI	Cross Filles	2007	00:18:50.18	00:02:22.84
6	4202	RAMEL ALICIA O2MOUNTAIN BIKE	PAQUIER-MONTBARRY	FR	SUI	Cross Filles	2008	00:19:19.98	00:02:52.64
7	4201	MARTINEZ KIM LA PEDALE BULLOISE	ROMONT	FR	SUI	Cross Filles	2008	00:20:13.75	00:03:46.41
8	4205	BOSEL CELIA PB BULLE	VUADENS	FR	SUI	Cross Filles	2008	00:22:12.66	00:05:45.32
9	4240	VERGERES CLOE N/A	MIES	VD	SUI	Cross Filles	2008	00:22:16.06	00:05:48.72
10	4246	OBERSON ALEXIA CYCLOMANIACS	CHATEL-SAINT-DENIS	FR	SUI	Cross Filles	2008	00:23:08.55	00:06:41.21
11	4203	DEMIERRE AUGUSTINE PEDALE BULLOISE	VUISTERNENS-DT-ROMONT	FR	SUI	Cross Filles	2008	00:23:18.87	00:06:51.53
12	4244	BLANC JEANNE CYCLOMANIACS	CHATEL-ST-DENIS	FR	SUI	Cross Filles	2008	00:23:22.09	00:06:54.75

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4236	CONTESSE THIBAUD UC MONTHEYSANNE	CHOEX	VS	SUI	Cross Garçons	2007	00:14:56.62	
2	4209	GREMAUD NOA PEDALE BULLOISE	ECHARLENS	FR	SUI	Cross Garçons	2007	00:15:38.53	00:00:41.91
3	4221	DROUX SIMON PB BULLE	CHARMEY	FR	SUI	Cross Garçons	2007	00:15:39.76	00:00:43.14
4	4217	PICCAND TIM PEDALE BULLOISE	MARSENS	FR	SUI	Cross Garçons	2008	00:15:40.97	00:00:44.35
5	4218	DIND EWAN VC ECHALLENS	MONTRICHER	VD	SUI	Cross Garçons	2007	00:15:42.56	00:00:45.94
6	4210	DAFFLON NATHAN PEDALE BULLOISE	BROC	FR	SUI	Cross Garçons	2007	00:15:50.90	00:00:54.28
7	4216	BONNET SIMON CYCLOMANIACS VEVEYSE	TATROZ	FR	SUI	Cross Garçons	2008	00:17:09.47	00:02:12.85
8	4212	TERCIER CORENTIN LA PEDALE BULLOISE	BROC	FR	SUI	Cross Garçons	2007	00:17:11.16	00:02:14.54
9	4224	ZOSSO SILVAN BSO PLAFFEIEIN	ST. SILVESTER	FR	SUI	Cross Garçons	2008	00:17:13.04	00:02:16.42
10	4231	SILIAN ROMEO ROUTIER BIKERS / EXCELSIOR	MARTIGNY	VS	SUI	Cross Garçons	2007	00:17:17.17	00:02:20.55
11	4211	PROGIN JULES PEDALE BULLOISE	VUADENS	FR	SUI	Cross Garçons	2007	00:17:18.69	00:02:22.07
12	4223	BUNTSCHU MATTEO BSO PLAFFEIEIN	ST. SILVESTER	FR	SUI	Cross Garçons	2008	00:17:19.74	00:02:23.12
13	4235	NOVERRAZ LIAM CYCLOMANIACS	CHATEL-ST-DENIS	FR	SUI	Cross Garçons	2007	00:17:56.34	00:02:59.72
14	4251	BRUGGER COLIN PEDALE BULLOISE	FRIBOURG	FR	SUI	Cross Garçons	2008	00:18:47.67	00:03:51.05
15	4250	VAUX BENJAMIN N/A	VILLENEUVE	VD	SUI	Cross Garçons	2007	00:18:48.30	00:03:51.68
16	4229	CAPELLI DIEGO VELO CLUB MONTREUX-RENNAZ	ROCHE VD	VD	SUI	Cross Garçons	2008	00:18:49.05	00:03:52.43
17	4249	WIESER BASTIAN BSO	ST. URSEN	FR	SUI	Cross Garçons	2008	00:19:10.22	00:04:13.60
18	4239	DUPERREX ELIOT VC PAYERNE	LOVATENS		SUI	Cross Garçons	2007	00:19:20.62	00:04:24.00
19	4220	FRACHEBOUD TIM O2MOUNTAINBIKE	PRINGY	FR	SUI	Cross Garçons	2007	00:19:22.43	00:04:25.81
20	4230	ROMANENS NICOLAS N/A	FRIBOURG	FR	SUI	Cross Garçons	2008	00:19:37.37	00:04:40.75
21	4225	DUBOIS NOE TEAM TESAG	FETIGNY	FR	SUI	Cross Garçons	2007	00:19:55.80	00:04:59.18
22	4226	AGUETTAND PIEMONTAIS MATTHIEU N/A	LA TOUR-DE-TREME		SUI	Cross Garçons	2007	00:20:11.91	00:05:15.29
23	4243	ROUVENAZ GUILLAUME N/A	LA TOUR-DE-TREME		SUI	Cross Garçons	2007	00:20:28.52	00:05:31.90
24	4248	MULLER GUILLAUME LA PB BULLE	CHARMEY (GRUYERE)	FR	SUI	Cross Garçons	2008	00:20:42.74	00:05:46.12
25	4245	SCHUWEY JAN BSO	ST. SILVESTER	FR	SUI	Cross Garçons	2008	00:20:45.43	00:05:48.81
26	4247	ROBERT GASPARD N/A	VOLLEGES		BEL	Cross Garçons	2008	00:21:05.18	00:06:08.56
27	4241	CHATAGNY GABIN N/A	BULLE	FR	SUI	Cross Garçons	2007	00:21:06.84	00:06:10.22

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
28	4214	VONARB JULES SA BULLE	LA TOUR DE TREME	FR	FRA	Cross Garçons	2008	00:22:13.52	00:07:16.90
29	4219	TSIMINE ULYSSE PEDALE BULLOISE	LA TOUR-DE-TREME	FR	SUI	Cross Garçons	2007	00:22:47.88	00:07:51.26
30	4252	PILLER HUGO N/A	MARSENS		SUI	Cross Garçons	2008	00:22:56.74	00:08:00.12
31	4242	PROBST LUCAS N/A	TREYVAUX		SUI	Cross Garçons	2007	00:23:51.61	00:08:54.99
32	4237	PYTHON THIBAUT FC LA TOUR/LE PAQUIER	LA TOUR-DE-TREME		SUI	Cross Garçons	2007	00:24:15.30	00:09:18.68
33	4213	SUCH MATTHIEU N/A	PREVERENGES		SUI	Cross Garçons	2008	00:25:50.10	00:10:53.48
34	4222	ZOGAJ BRAYAN PEDALE BULLOISE	PRINGY	FR	SUI	Cross Garçons	2007	00:26:13.44	00:11:16.82
35	4238	EGGER HUGO JPF CONSTRUCTION SA	AVRY-SUR-MATRAN		SUI	Cross Garçons	2008	00:26:42.02	00:11:45.40
36	4208	GLASSEY ROMAIN N/A	TOLOCHENAZ	VD	SUI	Cross Garçons	2007	DNS	
37	4215	JUNGO MAX BSO	RECHTHALTEN	FR	SUI	Cross Garçons	2007	DNS	
38	4227	MEHMETAJ NOAM VC PAYERNE - PRO CYCLES	MURIST	FR	SUI	Cross Garçons	2008	DNS	
39	4228	MORET JEFF PEDALE BULLOISE	VUADENS	FR	SUI	Cross Garçons	2007	DNS	
40	4234	CHARLIER LUCAS VTT BALCON DU JURA	YVERDON-LES-BAINS	VD	SUI	Cross Garçons	2007	DNS	

Mini-Kids Filles 2 roues

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4031	BEZZOLA JOANE	MAGNEDENS	FR	SUI	Mini-Kids Filles 2 roues	2012	00:02:31.37	
		N/A							
2	4040	ALVES ENA	BROC		POR	Mini-Kids Filles 2 roues	2012	00:02:46.92	00:00:15.55
		N/A							
3	4005	DERVEY ZOE	HAUTEVILLE	FR	SUI	Mini-Kids Filles 2 roues	2013	00:02:48.26	00:00:16.89
		THOEMUS VELOSHOP							
4	4002	THERAULAZ ELODIE	ST. URSENS	FR	SUI	Mini-Kids Filles 2 roues	2013	00:02:58.70	00:00:27.33
		N/A							
5	4001	MARQUES LEONOR	VILLARS-SUR-GLANE	FR	POR	Mini-Kids Filles 2 roues	2012	00:03:04.32	00:00:32.95
		N/A							
6	4004	MONNEY AMANDINE	MARSENS	FR	SUI	Mini-Kids Filles 2 roues	2012	00:03:07.56	00:00:36.19
		N/A							
7	4003	BEAUSSANT KEYLA	BULLE		SUI	Mini-Kids Filles 2 roues	2012	00:03:10.70	00:00:39.33
		N/A							
8	4044	GERBER LARA	AFFOLTERN		CH	Mini-Kids Filles 2 roues	2013	00:03:11.25	00:00:39.88
		N/A							
9	4361	LEUBA MYLENE	BELFAUX		SUI	Mini-Kids Filles 2 roues	2011	00:03:12.07	00:00:40.70
		N/A							
10	4022	BORLOZ LOUISE	ST-MARTIN		SUI	Mini-Kids Filles 2 roues	2012	00:03:13.72	00:00:42.35
		N/A							
11	4023	COURTIN ZOE	GRANDVILLARD	FR	SUI	Mini-Kids Filles 2 roues	2012	00:03:22.38	00:00:51.01
		N/A							
12	4041	FAVRE NINA	PRINGY	FR	SUI	Mini-Kids Filles 2 roues	2012	00:03:37.56	00:01:06.19
		N/A							

Mini-Kids Filles 3 roues et plus

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4030	NOVERRAZ AUDREY	CHATEL-ST-DENIS		SUI	Mini-Kids Filles 3 roues et plus	2013	00:01:50.08	
		N/A							
2	4038	JORDAN LANA	FORMANGUEIRES		SUI	Mini-Kids Filles 3 roues et plus	2014	00:02:32.77	00:00:42.69
		N/A							
3	4007	NICOLET EMY	PREZ-VERS-NOREAZ	FR	SUI	Mini-Kids Filles 3 roues et plus	2012	00:02:35.84	00:00:45.76
		LES NICOLETS DE PREZ							
4	4006	MARGUERON OLIVIA	VILLARSEL-LE-GIBLOUX	FR	SUI	Mini-Kids Filles 3 roues et plus	2012	00:02:41.51	00:00:51.43
		N/A							
5	4035	PROGIN NOELLE	LA TOUR-DE-TREME		SUI	Mini-Kids Filles 3 roues et plus	2014	00:02:49.18	00:00:59.10
		N/A							

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4011	BERTHOUD EVAN	CHATEL-ST-DENIS	FR	SUI	Mini-Kids Garçons 2 roues	2013	00:02:11.76	
		CYCLOMANIACS VEVEYSE							
2	4039	JORDAN ALEXIS	FORMANGUEIRES		SUI	Mini-Kids Garçons 2 roues	2014	00:02:15.24	00:00:03.48
		N/A							
3	4018	OBERSON NICOLAS	HEITENRIED	FR	SUI	Mini-Kids Garçons 2 roues	2012	00:02:33.99	00:00:22.23
		THOEMUS FACTORY TEAM							
4	4027	CLEMENT THIBAUD	VUADENS		SUI	Mini-Kids Garçons 2 roues	2012	00:02:54.65	00:00:42.89
		N/A							
5	4028	CHASSOT LUC	HAUTEVILLE		SUI	Mini-Kids Garçons 2 roues	2012	00:02:56.10	00:00:44.34
		LES CHASSOT							
6	4036	PROGIN ANTONIN	LA TOUR-DE-TREME		SUI	Mini-Kids Garçons 2 roues	2012	00:02:59.44	00:00:47.68
		N/A							
7	4033	ZOSSO LUCA	GIFFERS	FR	SUI	Mini-Kids Garçons 2 roues	2012	00:03:01.88	00:00:50.12
		N/A							
8	4010	HENNINGER THEO	FORMANGUEIRES	FR	SUI	Mini-Kids Garçons 2 roues	2013	00:03:08.91	00:00:57.15
		PEPE-NEUHAUS							
9	4034	MOLLIET EVAN	CHESEL	VD	SUI	Mini-Kids Garçons 2 roues	2014	00:03:10.00	00:00:58.24
		MONTERUX-RENNAZ CYCLISME							
10	4026	CLEMENT LORIN	VUADENS		SUI	Mini-Kids Garçons 2 roues	2012	00:03:12.00	00:01:00.24
		N/A							
11	4029	SCHUPBACH LOUIS	HESSIGKOFEN		SUI	Mini-Kids Garçons 2 roues	2012	00:03:15.17	00:01:03.41
		TEAM MERIDA							
12	4009	CORMINBOEUF IVAN	LA TOUR-DE-TREME	FR	SUI	Mini-Kids Garçons 2 roues	2012	00:03:15.60	00:01:03.84
		N/A							
13	4019	DEILLON FLAVIEN	LA JOUX FR	FR	SUI	Mini-Kids Garçons 2 roues	2014	00:03:26.03	00:01:14.27
		TEAM CHIFFELLE							
14	4008	DAFFLON TOM	BROC	FR	SUI	Mini-Kids Garçons 2 roues	2012	00:03:26.35	00:01:14.59
		N/A							
15	4024	MORENO EFREN	CHATEL-SAINT-DENIS	FR	SUI	Mini-Kids Garçons 2 roues	2012	00:03:28.57	00:01:16.81
		CYCLOMANIACS							
16	4025	BUSSARD THOMAS	ROMONT	FR	SUI	Mini-Kids Garçons 2 roues	2014	00:03:29.71	00:01:17.95
		N/A							
17	4042	FAVRE CHARLY	PRINGY	FR	SUI	Mini-Kids Garçons 2 roues	2014	00:03:37.00	00:01:25.24
		N/A							
18	4014	BERDOZ EMILE	CHATEAU-DOEX	VD	SUI	Mini-Kids Garçons 2 roues	2012	00:03:38.39	00:01:26.63
		N/A							
19	4037	JORDAN TIMEO	VUISTERNENS		SUI	Mini-Kids Garçons 2 roues	2012	00:03:39.70	00:01:27.94
		N/A							
20	4043	BRUGGER TIMEO	FRIBOURG		SUI	Mini-Kids Garçons 2 roues	2013	00:03:57.17	00:01:45.41
		N/A							
21	4045	MOREL NATHAN	ROMONT		SUI	Mini-Kids Garçons 2 roues	2012	00:03:59.31	00:01:47.55
		N/A							
22	4012	REYNAUD MATTHIEU	FRIBOURG	FR	SUI	Mini-Kids Garçons 2 roues	2012	DNS	

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
		N/A							
23	4032	ZOSSO ALESSANDRO	GIFFERS		SUI	Mini-Kids Garçons 2 roues	2014	DNS	
		N/A							

Mini-Kids Garçons 3 roues et plus

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4015	MARTIN MATHIEU	LES MOULINS	VD	SUI	Mini-Kids Garçons 3 roues et plus	2013	00:01:42.45	
		N/A							
2	4017	BERDOZ GASTON	CHATEAU-DOEX	VD	SUI	Mini-Kids Garçons 3 roues et plus	2014	00:01:53.92	00:00:11.47
		N/A							
3	4016	PITTET KEVIN	LENTIGNY	FR	SUI	Mini-Kids Garçons 3 roues et plus	2014	00:02:50.45	00:01:08.00
		N/A							
4	4020	LORIS EYMANN	POMPAPLES	VD	SUI	Mini-Kids Garçons 3 roues et plus	2014	00:02:51.79	00:01:09.34
		TEAM PRACONDU							
5	4021	CHARRIERE ROMAIN	VAL-DE-CHARMEY	FR	SUI	Mini-Kids Garçons 3 roues et plus	2013	00:03:09.37	00:01:26.92
		N/A							

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4106	CHAVAILLAZ MELINDA PB BULLE	SOMMENTIER	FR	SUI	Rock Filles	2005	00:22:59.77	
2	4104	PYTHON ELODIE VTT BALCON DU JURA	BOVERESSE	NE	SUI	Rock Filles	2005	00:23:05.87	00:00:06.10
3	4108	FOURNIER FANNY TEAM CIMES CYCLE	LA CHAUX-DE-FONDS	NE	SUI	Rock Filles	2005	00:23:06.81	00:00:07.04
4	4103	BONNET AMELIE CYCLOMANIACS VEVEYSE	TATROZ	FR	SUI	Rock Filles	2005	00:25:00.74	00:02:00.97
5	4140	ROUILLER AMELIE LA PB BULLE	RIAZ	FR	SUI	Rock Filles	2005	00:25:04.95	00:02:05.18
6	4105	ROUILLER PAULINE PEDALE BULLOISE	AVRY-DEVANT-PONT	FR	SUI	Rock Filles	2006	00:26:36.66	00:03:36.89
7	4107	CURRAT MELIA BSO PLAFFEIEIN	GIFFERS	FR	SUI	Rock Filles	2006	00:27:00.45	00:04:00.68
8	4151	PERRITAZ JEANNE N/A	VAL-DE-CHARMEY	FR	SUI	Rock Filles	2005	00:27:56.20	00:04:56.43
9	4102	STECK NINA VC KERZERS	SUGIEZ	FR	SUI	Rock Filles	2006	00:29:48.81	00:06:49.04
10	4101	SCHLAFLI ALICE VELO CLUB FRIBOURG	MATRAN	FR	SUI	Rock Filles	2005	00:33:33.14	00:10:33.37

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4118	WIESER DAN BIGFRIENDS RACING TEAM/BSO	ST. URSEN	FR	SUI	Rock Garçons	2005	00:20:42.34	
2	4110	ROTH BASTIAN VC PAYERNE PROCYCLES	VALLON	FR	SUI	Rock Garçons	2005	00:21:02.13	00:00:19.79
3	4117	PICCAND NEO PEDALE BULLOISE	MARSENS	FR	SUI	Rock Garçons	2005	00:21:15.19	00:00:32.85
4	4139	DAFFLON JULES PEDALE BULLOISE	CHARMEY	FR	SUI	Rock Garçons	2006	00:21:15.63	00:00:33.29
5	4113	ZAHNO NOAH MAHU/BSO PLAFFEIEN	RECHTHALTEN	FR	SUI	Rock Garçons	2005	00:21:45.69	00:01:03.35
6	4121	BAUMANN JAN BSO PLAFFEIEN / BIG FRIENDS	PLAFFEIEN	FR	SUI	Rock Garçons	2006	00:22:36.05	00:01:53.71
7	4138	WENZEL TRISTAN SC BEX	LAUSANNE	VD	SUI	Rock Garçons	2005	00:22:51.17	00:02:08.83
8	4111	RISSE JOHANN PEDALE BULLOISE	BULLE	FR	SUI	Rock Garçons	2005	00:22:56.33	00:02:13.99
9	4133	MONNEY JEREMY BSO PLAFFEIEN - BIG FRIENDS	SAINT-SYLVESTRE	FR	SUI	Rock Garçons	2006	00:23:04.65	00:02:22.31
10	4116	KILCHOER DYLAN LA PEDALE BULLOISE	VILLARSEL-LE-GIBLOUX	FR	SUI	Rock Garçons	2005	00:24:21.71	00:03:39.37
11	4120	DENERVAUD TOM LA PEDALE BULLOISE	ESTAVAYER-LE-GIBLOUX	FR	SUI	Rock Garçons	2006	00:24:40.75	00:03:58.41
12	4124	SCAIOLA ANTOINE N/A	VUADENS	FR	SUI	Rock Garçons	2006	00:24:41.42	00:03:59.08
13	4145	PROBST JEREMIE PEDALE BULLOISE	TREYVAUX	FR	SUI	Rock Garçons	2005	00:24:58.83	00:04:16.49
14	4131	PFISTER CORENTIN CYCLOMANIACS	ATTALENS	FR	SUI	Rock Garçons	2005	00:25:02.55	00:04:20.21
15	4142	JENNY MARCO N/A	SORENS		SUI	Rock Garçons	2005	00:25:21.38	00:04:39.04
16	4152	RUTSCHO BASTIAN N/A	RIAZ		SUI	Rock Garçons	2005	00:25:23.37	00:04:41.03
17	4123	CIEJAK ROMAIN VELO CLUB FRIBOURG	VILLARS-SUR-GLANE	FR	FRA	Rock Garçons	2005	00:25:25.60	00:04:43.26
18	4134	GREMAUD VALENTIN O2 MOUNTAIN BIKE	LE PAQUIER	FR	SUI	Rock Garçons	2006	00:25:27.42	00:04:45.08
19	4147	CHARRIERE MATHEO LA PB BULLE	CHARMEY (GRUYERE)	FR	SUI	Rock Garçons	2006	00:25:40.45	00:04:58.11
20	4122	SAVARY MARTIN TEAM TESAG UVEX	VERS-CHEZ-PERRIN	VD	SUI	Rock Garçons	2006	00:25:45.86	00:05:03.52
21	4128	ANDREY FRANCOIS PEDALE BULLOISE	RIAZRIAZ	FR	SUI	Rock Garçons	2006	00:25:51.60	00:05:09.26
22	4125	ESCRIEUT LEO PEDALE BULLOISE	VUADENS	FR	SUI	Rock Garçons	2006	00:25:53.05	00:05:10.71
23	4129	CLEMENT ENZO PB BULLE	VILLARSEL-LE-GIBLOUX	FR	SUI	Rock Garçons	2006	00:26:12.98	00:05:30.64
24	4136	FANKHAUSER TILL N/A	VILLNACHERN		SUI	Rock Garçons	2006	00:26:33.14	00:05:50.80
25	4127	WALTHER EMIL CYCLOMANIACS DE LA VEVEYSE	CHATEL-ST-DENIS	FR	SUI	Rock Garçons	2005	00:26:37.30	00:05:54.96
26	4112	TERCIER JEREMIE LA PEDALE BULLOISE	BROC	FR	SUI	Rock Garçons	2005	00:26:57.08	00:06:14.74
27	4132	VALLELIAN THIBAUD LA PB	SALES (GRUYERE)		SUI	Rock Garçons	2006	00:27:36.58	00:06:54.24

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
28	4126	JACQUIER ROMAIN PEDALE BULLOISE	VAULRUZ	FR	SUI	Rock Garçons	2005	00:28:17.27	00:07:34.93
29	4119	HUBSCHER ARTHUR VELO CLUB FRIBOURG	FRIBOURG	FR	SUI	Rock Garçons	2005	00:28:42.67	00:08:00.33
30	4109	AEBY ETHAN LA PEDALE BULLOISE	SENEDES	FR	SUI	Rock Garçons	2006	00:29:30.67	00:08:48.33
31	4114	PILLOUD THOMAS CYCLOMANIACS VEVEYSE	CHATEL-ST-DENIS	FR	SUI	Rock Garçons	2006	00:30:58.82	00:10:16.48
32	4143	CHATAGNY NATHAN N/A	BULLE		SUI	Rock Garçons	2005	00:31:04.31	00:10:21.97
33	4148	INDERMUHLE YLAN VC PAYERNE	CERNIAZ	VD	SUI	Rock Garçons	2006	00:31:23.34	00:10:41.00
34	4141	RICHARD BAPTISTE N/A	VUISTERNENS-OGOZ	FR	SUI	Rock Garçons	2005	00:34:06.91	00:13:24.57
35	4144	MENOUD PAUL N/A	SALES		SUI	Rock Garçons	2006	00:34:17.85	00:13:35.51
36	4130	HUNZIKER ARNAUD 02MOUNTAIN	VUADENS	FR	SUI	Rock Garçons	2006	DSQ	
37	4150	HOFER JANIS CRAZY VELOSHOP JASSBACH	BLUMENSTEIN	BE	SUI	Rock Garçons	2005	DSQ	
38	4146	LEUBA TRISTAN PRO CYCLE PAXENE	BELFAUX		SUI	Rock Garçons	2006	DSQ	
39	4115	ROBADEY ILAN CYCLOMANIACS VEVEYSE	BOSSONNENS	FR	SUI	Rock Garçons	2005	DSQ	
40	4135	GOUMAZ ZIANE N/A	PULLY	VD	SUI	Rock Garçons	2005	DNS	
41	4137	HUWILER ROBYN CYCLOMANIACS	CHATEL-ST-DENIS	FR	SUI	Rock Garçons	2005	DNS	
42	4149	BARHOUMI ILIAN ALEXANDRE N/A	BULLE	FR	SUI	Rock Garçons	2005	DNS	

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4301	GREMAUD LISA PEDALE BULLOISE	ECHARLENS	FR	SUI	Soft Filles	2009	00:11:13.17	
2	4344	OBERSON AMELIE THOEMUS FACTORY TEAM	HEITENRIED	FR	SUI	Soft Filles	2010	00:13:24.82	00:02:11.65
3	4303	MENOUD ELINA PEDALE BULLOISE	VUISTERNENS-DEVANT-ROMONT	FR	SUI	Soft Filles	2009	00:13:41.04	00:02:27.87
4	4362	SCHUPBACH NORA TEAM MERIDA	HESSIGKOFEN		SUI	Soft Filles	2009	00:14:56.86	00:03:43.69
5	4377	RUFFIEUX SARA BSO PLAFFEIEU	OBERSCHROT	FR	SUI	Soft Filles	2009	00:16:07.73	00:04:54.56
6	4345	VALLELIAN NORA N/A	SALES (GRUYERE)		SUI	Soft Filles	2009	00:16:12.32	00:04:59.15
7	4352	CHARRIERE MELINE N/A	CHARMEY (GRUYERE)	FR	SUI	Soft Filles	2010	00:16:33.53	00:05:20.36
8	4302	MARTIN COLINE N/A	LES MOULINS	VD	SUI	Soft Filles	2011	00:17:58.95	00:06:45.78
9	4306	NICOLET LYA LES NICOLETS DE PREZ	PREZ-VERS-NOREAZ	FR	SUI	Soft Filles	2010	00:18:05.04	00:06:51.87
10	4374	MOREL ALLYN N/A	ROMONT		SUI	Soft Filles	2010	00:18:47.65	00:07:34.48
11	4364	NUNES CAROLINA N/A	BROC		POR	Soft Filles	2010	00:19:40.78	00:08:27.61
12	4366	OLIVEIRA SARA N/A	BULLE		SUI	Soft Filles	2010	00:19:54.52	00:08:41.35
13	4304	EGGER SHERLEY N/A	CORBIERES	FR	SUI	Soft Filles	2009	DNS	
14	4305	EGGER LEANE N/A	CORBIERES		SUI	Soft Filles	2011	DNS	

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
1	4368	BARHOUMI MARWAN KARIM	BULLE	FR	SUI	Soft Garçons	2009	00:09:16.88	
		LA PEDALE BULLOISE							
2	4328	BERTHOUD YANIS	CHATEL-ST-DENIS	FR	SUI	Soft Garçons	2009	00:09:18.73	00:00:01.85
		CYCLOMANIACS VEVEYSE							
3	4343	VUICHARD MARTIN	SEMSALES	FR	SUI	Soft Garçons	2009	00:09:38.64	00:00:21.76
		CYCLOMANIACS							
4	4307	PROGIN AARON	VUADENS	FR	SUI	Soft Garçons	2009	00:09:42.88	00:00:26.00
		PB BULLE							
5	4349	WENZEL MAGNUS	LAUSANNE	VD	SUI	Soft Garçons	2009	00:10:44.85	00:01:27.97
		SC BEX							
6	4326	HAENNI JARI	RECHTHALTEN	FR	SUI	Soft Garçons	2009	00:10:45.73	00:01:28.85
		BSO BIKECLUB SENSEOBERLAND							
7	4330	FALCONNIER LEO	CHATEL-ST-DENIS	FR	SUI	Soft Garçons	2009	00:10:57.24	00:01:40.36
		CYCLOMANIACS							
8	4380	BARRERA ANGELO	FETIGNY		SUI	Soft Garçons	2009	00:11:09.15	00:01:52.27
		VC PAYERNE							
9	4371	PERRITAZ LOUIS	CHARMEY	FR	SUI	Soft Garçons	2009	00:11:24.00	00:02:07.12
		PEDALE BULLOISE							
10	4356	COURTIN HUGO	GRANDVILLARD	FR	SUI	Soft Garçons	2010	00:11:28.99	00:02:12.11
		N/A							
11	4331	ZOSSO KILIAN	ST. SILVESTER	FR	SUI	Soft Garçons	2010	00:11:30.09	00:02:13.21
		BSO PLAFFEIE							
12	4334	REYNAUD SAMUEL	FRIBOURG	FR	SUI	Soft Garçons	2010	00:11:41.77	00:02:24.89
		PEDALE BULLOISE							
13	4327	ROTZETTER ALEXIS	OBERSCHROT	FR	SUI	Soft Garçons	2009	00:11:44.90	00:02:28.02
		BIKE CLUB SENSE OBERLAND							
14	4317	HAESLER JEREMY	MORAT	FR	SUI	Soft Garçons	2009	00:11:51.85	00:02:34.97
		CCL KIDS PROF							
15	4335	SCAIOLA PAUL	VUADENS	FR	SUI	Soft Garçons	2009	00:11:53.46	00:02:36.58
		N/A							
16	4340	ESCRIEUT ROMAIN	VUADENS	FR	SUI	Soft Garçons	2009	00:12:10.45	00:02:53.57
		LA PEDALE BULLOISE							
17	4342	DERVEY THEO	HAUTEVILLE	FR	SUI	Soft Garçons	2011	00:12:18.81	00:03:01.93
		THOEMUS VELOSHOP							
18	4367	FAVRE AUBIN	PRINGY	FR	SUI	Soft Garçons	2010	00:12:19.95	00:03:03.07
		N/A							
19	4313	DEMIERRE VALENTIN	VUISTERNENS-DT-ROMONT	FR	SUI	Soft Garçons	2009	00:12:20.71	00:03:03.83
		-							
20	4338	EJDERYAN GABRIEL	FRIBOURG	FR	SUI	Soft Garçons	2010	00:12:30.71	00:03:13.83
		N/A							
21	4358	BLANC OLIVIER	CHATEL-ST.-DENIS		SUI	Soft Garçons	2011	00:12:31.90	00:03:15.02
		CYCLOMANIACS							
22	4154	BOURDILLLOUD LOIC	CHATEL-ST-DENIS		SUI	Soft Garçons	2010	00:12:34.97	00:03:18.09
		CYCLOMANIACS							
23	4379	PILLER ANTONIN	MARSENS	FR	SUI	Soft Garçons	2010	00:12:49.34	00:03:32.46
		N/A							
24	4350	SOTTAS REMI	CHARMEY (GRUYERE)	FR	SUI	Soft Garçons	2010	00:12:50.67	00:03:33.79
		N/A							
25	4372	PITTET XAVIER	LENTIGNY	FR	SUI	Soft Garçons	2010	00:12:56.48	00:03:39.60
		N/A							
26	4316	BONNET CEDRIC	TATROZ	FR	SUI	Soft Garçons	2011	00:12:58.18	00:03:41.30
		CYCLOMANIACS VEVEYSE							
27	4319	PERRITAZ HUGO	BROC	FR	SUI	Soft Garçons	2011	00:13:01.89	00:03:45.01
		N/A							
28	4370	VAUX NATHAN	VILLENEUVE		SUI	Soft Garçons	2009	00:13:04.10	00:03:47.22

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
		N/A							
29	4323	CORBAZ ELIAS	MARSENS	FR	SUI	Soft Garçons	2009	00:13:05.79	00:03:48.91
		N/A							
30	4369	SAVARY NOAM	PRINGY	FR	SUI	Soft Garçons	2010	00:13:06.86	00:03:49.98
		02MOUNTAIN							
31	4314	CORMINBOEUF PABLO	LA TOUR-DE-TREME		SUI	Soft Garçons	2009	00:13:11.86	00:03:54.98
		PEDALE BULLOISE							
32	4341	BERDOZ JOVIAN	CHATEAU-D'OEEX	VD	SUI	Soft Garçons	2010	00:13:21.99	00:04:05.11
		SC LES GOUPILS							
33	4324	MARGUERON ANTHONY	VILLARSEL-LE-GIBLOUX	FR	SUI	Soft Garçons	2009	00:13:24.32	00:04:07.44
		PEDALE BULLOISE							
34	4354	DUBOIS ANTOINE	FETIGNY	FR	SUI	Soft Garçons	2009	00:13:28.14	00:04:11.26
		N/A							
35	4375	GREFFIER KAYLAN	ORBE		SUI	Soft Garçons	2009	00:13:28.82	00:04:11.94
		N/A							
36	4337	FELLAY TOM	CHATEL-ST-DENIS	FR	SUI	Soft Garçons	2010	00:13:30.28	00:04:13.40
		CYCLOMANIACS							
37	4322	CORBAZ MAEL	MARSENS	FR	SUI	Soft Garçons	2011	00:13:49.71	00:04:32.83
		N/A							
38	4357	MORENO ESTABAN	CHATEL-ST-DENIS		SUI	Soft Garçons	2011	00:14:21.46	00:05:04.58
		CYCLOMANIACS							
39	4153	BARRERA DANIEL	FETIGNY	FR	SUI	Soft Garçons	2011	00:14:24.34	00:05:07.46
		VC PAYERNE							
40	4329	DROUX MANUEL	CHARMEY (GRUYERE)	FR	SUI	Soft Garçons	2011	00:14:40.66	00:05:23.78
		N/A							
41	4365	MOLLIET ROMAIN	CHESEL	VD	SUI	Soft Garçons	2011	00:14:51.06	00:05:34.18
		MONTERUX-RENNAZ CYCLISME							
42	4363	GOMES NUNO	BROC		POR	Soft Garçons	2010	00:15:10.85	00:05:53.97
		N/A							
43	4310	MARTIN GABRIEL	LES MOULINS	VD	SUI	Soft Garçons	2010	00:15:14.13	00:05:57.25
		N/A							
44	4325	THERAULAZ NOA-MAEL	ST. URSEN	FR	SUI	Soft Garçons	2010	00:15:22.13	00:06:05.25
		PEDALE BULLOISE							
45	4333	BEAUSSANT TYTOUAN	BULLE		SUI	Soft Garçons	2009	00:15:26.10	00:06:09.22
		N/A							
46	4320	FREY SEVAN	MONTAGNY-LES-MONTS	FR	SUI	Soft Garçons	2011	00:15:33.79	00:06:16.91
		VC PAYERNE PROCYCLES							
47	4318	DEILLON MATEO	SIVIRIEZ	FR	SUI	Soft Garçons	2010	00:15:43.06	00:06:26.18
		TEAM CHIFFELLE							
48	4373	ANDREY GREGORY	BROC	FR	SUI	Soft Garçons	2010	00:16:02.08	00:06:45.20
		N/A							
49	4376	GREFFIER DYLAN	ORBE		-	Soft Garçons	2011	00:16:25.83	00:07:08.95
		N/A							
50	4353	PROGIN PAUL	VUADENS	FR	SUI	Soft Garçons	2010	00:16:29.00	00:07:12.12
		N/A							
51	4311	MARTINEZ SEBASTIAN	CHAVANNES-FORTS	FR	SUI	Soft Garçons	2010	00:16:30.74	00:07:13.86
		N/A							
52	4346	RION JEREMY	VUISTERNENS-DT-ROMONT	FR	SUI	Soft Garçons	2011	00:16:31.71	00:07:14.83
		N/A							
53	4339	MAGNIN ELIOT	LA ROCHE FR	FR	SUI	Soft Garçons	2011	00:18:08.73	00:08:51.85
		TEAM BIBERLI							
54	4359	CHASSOT TEO	HAUTEVILLE		SUI	Soft Garçons	2010	00:18:16.55	00:08:59.67
		LES CHASSOT							

Pos.	N°	Nom, prénom	Localité	Canton	Nati	Catégorie	Année	Temps total	Ecart
55	4360	ROBERT ELIAS N/A	VOLLEGES	VS	BEL	Soft Garçons	2011	00:18:45.95	00:09:29.07
56	4336	BRODARD GAEL N/A	LOVENS		SUI	Soft Garçons	2010	00:18:57.71	00:09:40.83
57	4348	EYMANN ALEX TEAM PRACONDU	POMPAPLES	VD	SUI	Soft Garçons	2011	00:20:28.96	00:11:12.08
58	4332	BOUTEILLER NOAH N/A	COUSSET	FR	SUI	Soft Garçons	2010	00:20:31.45	00:11:14.57
59	4355	COURTIN ERWAN N/A	GRANDVILLARD	FR	SUI	Soft Garçons	2010	00:20:32.53	00:11:15.65
60	4309	VON KANEL NILS N/A	THUN	BE	SUI	Soft Garçons	2010	DNS	
61	4315	HENNINGER MATHIA PEPE-NEUHAUS	FORMANGUEIRES	FR	SUI	Soft Garçons	2010	DNS	
62	4321	CORBAZ MAEL MAEL	MARSENS	FR	SUI	Soft Garçons	2011	DNS	
63	4347	GOUMAZ ANDY N/A	PULLY	VD	SUI	Soft Garçons	2009	DNS	
64	4351	MATHIOT THOMAS N/A	BULLE 1	FR	-	Soft Garçons	2010	DNS	
65	4378	POCHON NOLAN N/A	GIVISIEZ	FR	SUI	Soft Garçons	2009	DNS	